

Tuition & Fees

Estimated Semester Costs (Full-time)*

 On campus student
 \$5,800-\$6,400

 Off-campus student
 \$3,200-\$3,500

 Music student
 \$6,200-\$6,500

Online student \$2,800

NOTE: The cost may be higher with the addition of private music lessons, music juries, or ESL classes. All fees are subject to change.

Portland Campus

Tuition & Fees

Full-time Tuition* \$3,095

Per Credit Hour \$255.00

Campus Audit per credit hour \$130.00

ESL per credit hour \$80.00

Student Services Fees

Full-time \$197.00
Part-time \$40-\$60
Basic Liability Insurance \$15.00
Registration Fee** \$35.00
Graduation Fee***

Room & Board

Dorm Residence & 2 meals/day \$2,520

Dorm cleaning & key deposit**** \$100.00

^{*12-18} credits

^{**}a late registration fee of \$100 will be added for registering after the enrollment deadline

^{***}Sophomores & Seniors only

^{***}refundable

Misc. Fees

Classroom texts \$150-\$300

Parking (on-campus students) \$29.00

Parking (off-campus students) \$5.00

Fitness Center Membership \$69.00

Music Fees

Music/Worship & Creative Arts Fee \$59.00

Private Music Lessons (\$21.43/hr) \$300-\$600

Midi Lab Fee \$25-\$60

Midi Lab Key Deposit*** \$25.00

Misc. Music Fees \$15-\$35

Online Campus

Tuition & Fees

Technology Fee \$20.00

Registration Fee \$35.00

Per Credit Hour (1-11 credits) \$220.00

Flat Rate (12-16 credits) \$2,625

Summer Per Credit Hour (max 4 credits) \$180.00

^{***}refundable

Interest-Free Payment Plans

A \$100 administration fee will be added to accounts that don't complete the full down payment and a Late Enrollment payment plan will be applied.

Full-time On-campus Students

Semester	Down Payment
Fall	\$3,000
Spring	\$2,000

Full-time Off-campus Students

Semester	Down Payment
Fall	\$1,300
Spring	\$850

Part-time Students

Semester	Down Payment
Fall	50% of total balance
Spring	33% of total balance

Online Campus Students

Semester	Down Payment
Fall	\$0
Spring	\$0

Payment Plan Schedules

Fall Schedule

Deduct your down payment from your total balance and divide it by 4 to find out your equal monthly payments.

Down Payment* with 4 Payments	Payment Schedule**
Example: \$5,985 - \$3,000 = \$2,985 (total cost after Down Payment) \$2,985 / 4 = \$746.25 (4 equal monthly payments)	September 20 th October 20 th November 20 th December 20 th
Late Enrollment with 5 Payments	Payment Schedule**
Example: \$5,985 + \$100 = \$6,085 (total cost after Late Enrollment Fee) \$6,085 / 4 = \$1,217 (5 equal monthly payments)	August 15 th September 20 th October 20 th November 20 th December 20 th
Online Campus with 4 Payments	Payment Schedule**
Example: \$2,800 / 4 = \$700 (4 equal monthly payments)	September 1 ^{st*} October 1 st November 1 st December 1 st

Spring Schedule

Deduct your down payment from your total balance and divide it by 5 to find out your equal monthly payments.

Down Payment* with 5 Payments	Payment Due**
Example:	February 20 th
\$5,985 - \$2,000 = \$3,985 (total cost after Down	March 20 th
Payment)	April 20 th
\$3,985 / 5 = \$797(5 equal monthly payments)	May 20 th
	June 20 th
Late Enrollment with 6 Payments	Payment Due**
Example:	January 15 ^{th*}
\$5,985 + \$100 = \$6,085 (total cost after Late	February 20 th
Enrollment Fee)	March 20 th
\$6,085 / 6 = \$1,015 (6 equal monthly payments)	April 20 th
	May 20 th
	June 20 th
Online Campus with 4 Payments	Payment Due**
Example:	February 1 ^{st⊁}
\$2,800 / 4 = \$700 (4 equal monthly payments)	March 1 st
	April 1 st
	May 1 st

^{*}due by enrollment deadline

^{**}a 5 day grace period is extended for all payment plans, after which a \$20 late fee is added***

^{***}all fees are subject to change